3. In which one of the following regions was
Dhanyakataka, which flourished a;a
a prominent Buddhist centre undér
the Mahasanghikas, located?

(a) Andhra
(bp) Gandhara
(c) Kalinga

(d) Magadha

2. With reference to ancient India, consider
the following statements :

1. The concept of Stupa is Buddhist
in origin.

2. Stupa was generally a repository
of relics.

3. Stupa was a votive and
commemorative structure in
Buddhist tradition.

4. Which one of the fnllnwing explains
the practice of Vattakirutal’ as
mentioned in Sangam poems?

(a) Kings employing women
bodyguards
(b) Learned persons assembling in

royal courts to discuss religious
and philosophical matters

(¢) Young girls keeping watch over
agricultural fields and driving away
birds and animals

(d) A king defeated in a Dbattle
committing ritual suicide by
starving himself to death

5. Consider the following dynasties :

1. Hoysala

2. Gahadavala
3. Kakatiya

4. Yadava

How many of the above dynasties
established their kingdoms in early
eighth century AD?

a) Only one

5. *:,z“io;icmpg CPRE o) M

(a) Only one

7 \/
/

e )

(b) Only two
(c) All three

(d) None

3. With reference to ancient South India,
Korkai, Poompuhar and Muchiri were
well known as
(a) capital cities
(b) ports
(c) centres of iron-and-steel making

(d) shrines of Jain Tirthankaras

DTG-F-GST/62B

(d) None

6. With reference to ancient Indian History,
consider the following pairs :

Literary work Author
1. Devichandragupta : Bilhana
2. Hammira-Mahakavya : Nayachandra Suri
3. Milinda-panha : Nagarjuna

4. Nitivakyamrita : Somadeva Suri

How many of the above pairs are
correctly matched?

(a) Only one

(b) Only two

(c) Only three

(d) All four

[P.T.0.
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“Souls are not only the property of

animgl and plant life, but also of rocks e
running water and many other nmurni

objects not looked on as living by other

religious sects.” ‘ (

The above statement reflects one of

the core beliefs of which one of the
following religious sects of ancient

India? 12
(a) Buddhism

(b) Jainism

{c) Shaivism

(d) Vaishnavism

8. Who among the following rulers of
Vijayanagara Empire constructed a
large dam across Tungabhadra River
and a canal-cum-aqueduct several
kilometres long from the river to the
capital city?

‘»

(a) Devaraya I

o e UPSCPRE
(d) Virupaksha W L E R :

 SIMplity yot
9. Who among the following rulers of
medieval Gujarat surrendered Diu to
Portuguese?

(@) Ahmad Shah
() Mahmud Begarha
() Bahadur Shah
(d Muhammad Shah
10. By which one of the following Acts
was the Governor General of Bengal

designated as‘ the Governor General
of India?

(a) The Regulating Act

(b) The Pitt’s India Act

(c) The Charter Act of 1793
(d) The Charter Act of 1833

13.

XDTG-F-GST/62B

In essénce, what does Due Process of
Law’ mean?

(a)
(b)
(c)
(d)

The principle of natural justice
The procedure established by law
Fair application of law

Equality before law

Consider the following statements :
Statement-] :
In India, prisons are managed by
State Governments with their own
rules and regulations for the
day-to-day administration of prisons.
Statement-II :
In India, prisons are governed by the
Prisons Act, 1894 which expressly

kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-1 and Statement-II

P ement-II is the
®

for Statement-I

_(b)Both Statement-I and Statement-II
are correct and Statement-1I is
~not the correct explanation for

Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect. but

Statement-II is correct

Which one of the following statements
best reflects the Chief purpose of the
‘Constitution’ of a country?

(a)

It determines the objective for the
making of necessary laws.

It enables the creation of political
offices and a government.

It defines and limits the powers of
government.

(b)
(c)

social justice, social

It secures .
social security.

d,
R

(P.T.O.
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1.

How many

In India, which one i

Constitutional Amcndn?trfn‘t:cwnf:)"\?r::,l:\lg
believed to be enacted to \ .
the judicial
Fundamental Rights?
(a)
(b)
(c) 44th Amendment
(d) 86th Amendment

Consider the following organization
bodies in India : y y "

_ overcome
interpretations of the

1st Amendment
42nd Amendment

1. The National Commission for
Backward Classes

2. The National Human Rights
Commission

3. The National Law Commission

4. The National Consumer Disputes
Redressal Commission

How many of the above are

constitutional bodies?

(a) Only one

(b) Only two

(c) Only three

(d) All four

. Consider the follo

17.

With reference to Finance Bi

If the elect‘iu (P M'SCP R E

of India is declared void by
the Supreme Court of India, all
acts done by him/her in /the
performance of duties “of his/her
office of President before the date
of decision become invalid.
Election for the post of the
President of India can be postponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.
When a Bill is presented to the
President of India, the Constitution
prescribes time limits within which
he/she has to declare his/her
assent.

of the above statements are

correct?

(@)
(b)

Only one
Only two

(c) All three

(d)

None

XDTG-F-GST/62B

Bill in the India Il and Mone
an Parliame Y
ament, consider

the following statements

] When the Lok
v Sabha
F'mm\u‘ Bill to the Raw'amgsm:'q
it can amend or reject the ﬁiall) "

2. When the Lok Sabha tran
Moncy Bill to the Rajya %::P:m
1: cannot amend or reject tP\\c Bi?l'
it can only make rccommendaiiom'

3. In the case of dis
agreeme
bct.wccn the Lok Sabha gand :Pr:é
Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessa
Finance Bill, -

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) All three

B.COM....

Ay

- Once. the Central Government notifies

an-area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

2. hunting is not allowed in such area

people of such area are allowed to
collect non-timber forest produce

4. people of such area are allowed
traditional agricultural practices

How many of the above statements are
correct?

(a) Only one

(b) Only two

() Only three

(d) Al four

(P.T.0.
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. to =

in  India, . . Schedy,

statementsg . Consider the edf “A eas’

1. Within 4 OWing
an area tat » the noh ‘Cat
place thye, Scheduleq p,.UoN of

2 The ]argest o
forming the dm Nistratiye unit

Di
C]E:tj;'tofa:::lilage: lowest g the
3. The Chief . the Block
concerned Stateg ar:rs .
submit annua) GCor:: u
Union Home M'mst 10 the
admmlstratlon of Scheq on the
in the States. uled Are
How many
correct?
(a) Only one
(b) Only two
(c) All three

(d) None

of the above Statementg are

20. Consider the followmg statements -
Statement-I :

21,

Consider the following statements
Statement-|

Indi
ln(lm despite having  uranium
deposits, depends on coal for most of
its electricity production

Statement-I1

Uranium, enriched to the extent of
at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-1 and Statement-I1
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

Statement—l is incorrect but

rrect
The Supre 1a
held in so ge statements :

reservation  policies made

Article 16(4) of
India ‘would be I;
for ~maintenance
administration.

Statement-II :
Article 335 of the Constitution of
India defines the term ‘efficiency of
administration’.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement—'ll
are correct and Statement-II is
not the correct explanation for
Statement-I ¢

(c) Statement-I is  correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

XDTG-F-GST/62B

Statement-I :
Marsupials are not naturally found in
India.

Statement-II :

Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is

not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-l1 is incorrect but
Statement-II is correct

[P.T.0.
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23. Invasive Spegje
develops
Database) b,

" : O Whj
following orgamzatiom W

(@)

(b)

(c)

(d)

'8 SD(‘ ta 4
Globg) Tlist q

Invag;
Siy
ngs ¢

‘N oy )
? ¢ of the

The lntcrna'

tiong i
Conscr\'ation of NatureUmon :
The Uniteq i

aty “nvi
programme ong Env1ronment
The Uniteq i

V1 atio

Commission for nvir:nsm o
Development ent ang

The World Wide Fung fo, Nature

24. Consider the following fauna .

g

2.

3.

w  URSGPREP.GOM

Lion-tailed Macaque
Malabar Civet

Sambar Deer

nocturnal or most active after sunset?
(@ Only one RN

(b) Only two

(c)
(d)

All three

None

25. Which of the following organisms pgrfor;n
waggle dance for others of their kin
to indicate the direction and the
distance to a source of their food?

(@)
(b)
(c)
(d)

Butterflies
Dragonflies
Honeybees : |

Wasps

XDTG-F-G ST/62B

11

2 A Considcr the

1 Some
* Mushrgg S

Properti have medicing]
2. Some

Some mushrooms have

active Properties. L e
3. Some Mushroomg have in8cct1c1dal

Properties,
4,

Some Mushroomg have biolumji-
nescent Properties,

correct?

(a) Only one
(b) Only two

(c) Only three

following statements
regarding the Indian squirrels -

1. They build nests by making
burrows in the ground.

They store their food materials like
nuts and seeds in the ground.

They are omnivorouys,

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three

(d) None

[P.T.0.
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Consider the following statements -

Some microorganisms can grow
in environments with temporature
above the boiling point of water.

Some ‘microorganisms can grow
in environments with, temperature
below the freezing point of water,
Some microor

31,
1. Jhelum

Wular Lake.

2. Krishna River direc

Lake,

3. Meandering

Consider the following statements

River passes through

tly feeds Kolleru

of Gandak River

correct?

(d) None

with a stic
a hole in a

(@)
(b)
(c)
(d)

Fishing
Orangu
Otter

30. Considcr the

2
3.
4

XDTG-F-G ST/62B

in highly acidij
a pH below 3,

How many of the aboye

Slpth bear

Banisms can grow
C environment with

statcmcnts are

(a) Only one
(b) Only two
(c) All three

29. Which one of the following makes a togl

k to Scrape insects from
tree or a log of ‘wood?

JPSCPR
S o3

following :

1. Aerosols

Foam agents

Fire retardants

Lubricants

In the making of how many of the above
are hydrofluorocarbons used?

(a) Only one

(b) Only two

{c) Only three

(d) Al four .

13

How many of the
above are correct?

(a)
(b)
(c)
(d)

formed Kanwar Lake.
statements given

Only one
Only two
All three

None

32. Consider the following pairs -

Port
1. Kamarajar Port :

2. Mundra Port

Well known as

: First major port in India
registered as a company

: Largest privately owned
port in India

(b) Only two pairs
(c) All three pairs
(d) None of the pairs

33. Consider the following trees :

1.

¥
3.

Jackfruit (Artocarpus heterophyltus)
Mahua (Madhuca indica)
Teak (Tectona grandis) -

How many of the above are deciduous
trees?

(a) Only one
(b) Only two
(c) All three
(d) None

[P.T.O.
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- Consider the following statements

[ndia has more arabl
4 China. ¢ area than

2. 1he propatEis of irrigated area is

more in India as ¢
: om
China. pared to

3. The average productivi
hectare 1n Indian agrict.::zur an
{ higher than that in China .

?oor\:; <r::;u‘xy of the above statements are
(a) Only one

(b) Only two

(c) All three

(d) None

which one of the following is the best
example of repeated falls in sea level,

giving T11s€ to present-day extensive
marshland?

(a) Bhitarkanika Mangroves
(b) Marakkanam Salt Pans

35.

(d) Rann of Kut

36. Ilmenite and rutile,
in certain coastal \
which one ©

rich sources of
following?

(a) Aluminium
(b) Copper
(c) lron
(d) Titanium
37. About three-fourths of world’s cobalt,

a metal required for the manufacture
of batteries for electric motor vehicles,

is produced by
(a) Argentina
(b) Botswana

(c) the Democratic Republic of the
Congo

(d) Kazakhstan

XDTG-F-GST/62B

38. Which one of the following is a part of
the Congo Basin?

(@) Cameroon

(b) Nigeria

(c) South Sudan
(d) Uganda

39. Consider the following statements :

1. Amarkantak Hills are at the
confluence of Vindhya and
Sahyadri Ranges.

2. Biligirirangan Hills constitute the
easternmost part of Satpura Range.

3. seshachalam Hills constitute the
southernmost part of Western
Ghats.

How many of the statements given
above are correct?

(a) Only one
4b) Only two
(c) Al three

s PSCPREFR,C
. S with Q Mdia’s projects on

__connectivity, consider the following
statements :

Al 1

1. East:West Corridor under Golden
Quadrilateral Project connects
Dibrugarh and Surat.

2. Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

3. Bangladesh- China- India-Myanmar
Economic Corridor connects
Varanasi in Uttar pradesh with

Kunming in China.

How many of the above statements are
correct?

(a) Only one

(b) Only two

() Al three

(d) None

[P.T.O.
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Consider the following statements
tatement—l' : .
In crcst income from the d .
: Infras.tru'cturc Investment '":rpOSIts
Ts) distributed to their invcstgj:?s

8

pted from tax, but the dividend i
is

41

(inv
exem
taxablc.
Statemcnt"ll .
]m,yrs are recognized as
under the ‘Secu’ritization ant:iOr;ZWcrs
struction of Financial Assets C::(i
Enforcement of Security Intere
2002, il
which one of the following is correct i
e
respect of the above statements? ey
(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

Both Statement-I and Statement-II

43. Consider the following statements

Stat(‘mcm»»l ;
y to be one of

kets are likel

Carbon mar
the most widespread tools in the fight
against climate change.
Statcmcnt—” :
transfer resources

markets

Carbon
e sec

from the privat
the following is €0

respect of the above statcments?

(a) Both statement-] and Statement—ll
are correct and Statement—ll is the
correct explanation for statement-]

ement-I and Stateme€

tor to the State.
Which one of rrect in

nt-11

(b) Both Stat
are correct an Statcment—]l is
not the correct explanation for
Statcmcnt—l
but

is correct

(c) Statement-I
11 is incorrect

(b)
are correct and Statement-II is
not the correct explanation for Statement-
Statement-I (d) Statement-1 8 incorrect  but
(c) Statement-1  is  correct but Statement-II is correct
Statement-II is i
By t:tcment . ”: mco.rrect 44. Which one of the following activities of
(d) = 1 correct but the Reserve Bank of India is considered
Statement-II c e of ‘sterilization?
42. Consider the follo state R E P g@@‘MMarket
statement-T : : Operations’
(b) ight of settlement an

In the post-pande ';f-;:' t .L
many Central Banks rS“""Pllly_
carried out interest rate hikes. ‘

statement-II :
Central Banks generally assume that

they have the ability to counteract the
rising consumer prices via monetary
policy means.

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-] and statement-II
are correct and is the
correct explanation for Statement-1

Both Statement-I and statement-II

Statement—ll is

(b)
are correct and
not the correct explanation for
Statement-I

(c) Statement-I 18 correct  but
Statement-II is incorrect

(d) Statement- js incorrect but

Statement-II is €0

XDTG-F-GST/62B

17

payment systems
"(c) Debt and cash management for the
Central and State Governments

(a) Regulating the functions of Non-
banking Financial Institutions
Consider the following markets :

1. Government Bond Market

2. Call Money Market

3. Treasury Bill Market

4. Stock Market

How many of the above are included
in capital markets?

(@) Only one ’

(b) Only two

(c) Only three

(d) Al four

45.

(P.T.O.
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\vhich one of the followm

; b
the concept of Smal]gp::;dcscrib!is
er

Field”? rge
ttlement
(@) Rese of a lar
of peqp]e, UProoteq Bfe Umbey
countries dye to war s their

them a large cultiygpr’, PV Bivi

. a -
they cultivate collectibvl:] lan w icﬁ
the produce Y an

(b) Many marginal farmers i

: n

organize themselyeg M an areqg
and synchronize and h grou.ps
selected agricultyy Armonize

al Operationg
() Many marginal farmere :
e
together make TS In an arey

a contr i
a corporate body gang sifrtrer‘;vcll::l:

€ Corporate body

corporate body make
of agreed amoy o

(d) A company extends loans, t i
» technical
knowledge and Mmaterial inputs to
a number of sma] farmers in
an area so that they pProduce the

48,

Consider the investments in the following

assets

1. Brand recognition

2. Inventory

3.  Intellectual property
4. Mailing list of clients

How many of the above are considered
mmtangible investments?

(a) Only one
(b) Only two
(c) Only three
(d) All four

49. Consider the following :

1. Demographic performance
2. Forest and ecology

3. Governance reforms

4. Stable government

S. Tax and fiscal efforts

For the horizontal tax devolution, the
Fifteenth Finance Commission used

agricultural o 3 ow n the gabove as criteria
by the or R E ther thaf p W area and income
manufacturi d di k

)

commercial produfg%ion, L
| B s

47. Consider the followiﬂg'l@*&nmts :

R R

1. The Government of India provides
Minimum Support Price for niger
(Guizotia abyssinica) seeds.

2. Niger is cultivated as a Kharif crop.

3. Some tribal people in India use
niger seed oil for cooking.

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) All three
(d) None ¥

XDTG-F-GST/62B e

(@) Only two
(b) «Only thsee
(c) Only four
(d) Al five

50. Consider the following infrastructure

sectors :

1. Affordable housing
2. Mass rapid transport
3. Health care

4. Renewable energy
On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation (S3i)
initiative focus for its investments?

(@) Only one
(b) Only two
(¢) Only three
(d) Al four

[P.T.O.
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with reference to He

51. .

fol e

e Pollowmg StatemEn?Suards. Congiq

1. ome G : ider
Home E}uua;:‘j;sare Maiseq u s3. Conside

sider ¢

the Centrg] Gov °t anq };‘der the he fr)ll()wmg Paire

2. The role of mment. €8 of R"'Qions often
to serve the a "'GMrorled in new Reason for bei
th y as an auxil: Guards . 1. N . ~ws in eing
et Xlliary foree i orth Kivu ang Ituri o
internal seCUrity ma'me"anc:e :)of n Wa'Ah’?tWeen

3 To preve i fmenia and
\ nt - &
lnternatiOnal b’(’;ﬁltl‘ati(,n on 2. Nagomo'Karabakh 1 Azerhauan
the .r er/c e - Insurgeney ;
BattalBigrder Win { P, areas, 3. Kh MOZaymll?ique
okt sns ave een Muard ¢ €rson and : Disput B

€ States, raised Zaporizhzhia ISraF:-l aen " [}::ebtween
: anon

How many of th
e ab
correct? PR Statementg are ?oo:e 31 g ol
Ctly matched?

(a) Only one

pairs are

(@) Only one

(b) Only two

(c) All three (b) Only two

(d) None (c) Al three
(d) None

52. With reference to

In . E
following pairs : d_la’ consider the

The Act under S4. Consider the following statements -

Action which it is covered Statement-I :
: Israel has established diplomatic

1. Unauthorized wearing : The Official Secret .
of police or i i € some Arab States.
uniforms Py .

9. Knowingly misleading :T‘m mm Evi- The ‘Arab Peace Initiative’ mediated by

or otherwise mmﬂ)‘IMfa Act, (1872 | Saudi Arabia was signed by Israel

fering with a polEEEEIEAA - and Arab League.

officer or military .

officer when engaged 3 Which one of the following is correct
in respect of the above statements?

in their duties
(a) Both Statement-I and Statement-II

3. Celebrato nfire : The Arms (Amend- :
which cal;uy encgiuanger ment) Act, 2019 , are correct and Statement-Il is thle
the personal safety of _ correct explanation fqr Statement-—
othe?s g | : (b) Both Statement-I and Statement-Il

ol ; | ' are correct and Statemept—ll is
How many of the above pairs are not the correct explanation for
' ' ‘ t-1
correctly matched? Statemen | k. -
' (c) Statement-1 is  corTec
@l Onsams : Statement-II is incorrect
(b) Only two (@ Statement-] is incorrect but
% . :r‘ » Iy Wy
(d) None
[P.T.O.
- 21
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- Consider the foll()wi;

to Sports awardg . Pairg With e
Bar
major Dhyan Chang : Fo )
1. ¥ el Ratna Awarg | th
Khe .
Dectacma Mogt
uhtanding oy
Manee v per
, 8
Periog f(]); over
‘ Yearg ou
9. Arjuna Award For th
(-] )
achievemey,, | Ctime
Spo
3. Dronacharya Awarg o I;‘ "Sperso
: Onour e
Coacheg ml}?:::;
Successfy traineq
Sportsper
. tea e
4. Rashtriya Khel o

Protsahan Puraskar

SPortspersong
evgn ter their
retirement

How many of the
correctly matched?
(a) Only one

above pairs are

57,

('rmsidor the fr)llnwmg

pairs

Area of conflict

‘ Country where
mentionect n news -

it is located

Donbag Syria
Kachin Ethiopia
Tigray

North Yemen

How many of the above pairs are
correctly matched?

(a) Only one
(b) Only two

fc) Al three

3 *"UPSCPREP.COM
(d) our

- PR 3y

56. Consider the following“ sﬁtémcnts in
respect of the 44th Chess Olympiad,
2022 3

1. It was the first time that Chess
Olympiad was held in India.

The official mascot was named

‘Thambi’,

The trophy for the winning team
in the open section is the Vera
- Menchik Cup.

4. The trophy for the winning team
in the women’s section is the
Hamilton-Russell Cup.

How many of the statements given
above are correct?

(@) Only one
(b) Only two
(c) Only three
(d) Al four

&

XDTG-F-GST/62B

58. in the

recent years Chad, Guinea, Mali
and Sudan caught the international
attention for which one of the following
Teasons common to all of them?

(a) Discovery of rich deposits of rare
earth elements

(b) Establishment of Chinese military
' bases

(¢) Southward expansion of Sahara
Desert

(d) Successful coups

[P.T.O.
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Con51der the fO]lme &h
€avy ing

Ustne
1. Fertilizer plant
S 4
1. with reference to th
Oil refiner; Alexander Rea, & 31, 1o " History,
2. Neries g r b ogpliete . Longhurst, Robert
ewell, James Bur es
: Bess and Walter Eljiot
3. Steel plants Were associated with
Green hydrogen is (@) archaeological excavations
- Xpecteq
a significant reje in to play
ar . 4
many of the aboye mdust:m;zmg how (b) ;St]ab"Shmcm of English Press in
es olonial India
(a) Only one
(c) establishment of Churches in
(b) Only two Princely States
(c) All three (d) construction of railways in

Colonial India
(d) None

62. Consider the following pairs :

60. Consxdcr the followin te
" "UPSCPREP.COM
Il known for

1. The G20 group was originally

established 'ﬁ tm for the 1. Bespagar @ Shaivite cave shrine
Finance isters ”ﬂkf Central ‘ .
Bank Governors to discuss the 2. Bhaja : Buddhist cave shrine

international economic and

financial issues. 3. Sittanavasal : Jain cave shrine

igi ublic infrastructure is one .
2. Dlgltal_ pi iorities. : How many of the above pairs are
of India’s G-20 prio
] correctly matched?

i bove
Which of the statements given a

is/are correct? ) _ (@) Only one
fa) 1 only (b) Only two
(b) 2 only () All three
() Both 1and 2 | @ N

(d) Neither 1 nor 2 .
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nsider the follo\m‘.lu -
3 194 ment-l . : hm'n‘. :
6 5t 1, August is dec) 4
llmnd“’om Day.

ql‘.‘IT]C]]t—ll .

qle

areq |
as the ".
thn.l
t \\'as in 1905 t

7 t was 1

1o emen aune S
da.

which one of the foy e

fi i
i respect of the above ‘;’lng is

ta COrrecy
Both State‘ment_I = tement.-,)
are correct and tate

Slateme
a nt-
correct explanation temengyy

1§
(b) Both Statemc‘nt_l

s
" statementtt\:
and
are correct ang

Statement-|

¢) Statement-l  jg il
( Statement-II is incorre::eet
(d) Statement-I ‘

“is  in =
Statement-II is cmeﬂm but

W |.'\ :

' respCCt of the N
according to ﬂm

statement-I : ‘
One of !

the National e il

o

600 mm x 400 mm. -
Statement.-ll 1 ﬂ ot e
The ratio e length 1o IneE

(width) of the

(a) Both
are correct &
correct exp

Both S
not 1I
l: I—ls‘ .
Sta 'd‘ .. 

~ (b)

R mﬁ@,m statements :

plify your UPSC J

™h. & 19

“. Coh
Sider the followin i
fespect of the Conuit?m::\“g:;?“ r
Shtemem-l :
';20 Constitution Day is celebrated on
th November every year to promote
constitutional values among citizens.
Statement-11 -
On  26th November, 1949, the
Constituent Assembly of India set up
a Drafting Committee under the
Chairmanship of Dr. B. R. Ambedkar
:od;repare a Draft Constitution of
ndia,

Which one of the following is correct

in respect of the above statements?

(a) Both Statement-1 and Statement-Il
are correct and Statement-11 is the

correct explanation for Statement-1

Both Statement-1 and Statement—?l

are correct and Stamncl_\t—n is

not the correct explanation for

Statement-I

(c) Statement-1 is correct  but
Statement-11 is incorrect

(d) Statement-1 is

(b)

incorrect but
Statement-11 is correct

and Statement-11 is the
e ament
s tement-11
Cm sothsmmer:t:dmﬂs" 1 s
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cOnsidCf the follgy:

61' sta tement—l g Qtatement. .
Recently, the yp, '

Nited 69
gﬁﬁ" a;gintc};: E :et::,eG Of Amey; + Consider the following statements :
Technology Counc i € Trﬂden (EU) The ‘Stability and Growth Pact’ of the
Stateme{};‘—: and European Union is a treaty that
he -
’trhrough thland the By . . 1. limits the levels of the budgetary
s they Y are Claim th deficit of the countries of the
tecl'cljnolt(:glcal Progress g to |, m:t European Union
productivity under their and h”lc:] 2. makes the countries of the
Which one of the COntro European Union to share their
in respect of the abf;;)llowmg b infrastructure facilities
(@) Both Stat e tatement:;ect 3. enables the countries of the
s ement-| gp, and Stg European Union to share their
oneg:rect l:nnd S tementtelllnent-ll technologies
explanatiq =1l is the .
(b) Both Statement. * M tatement—| How many of the above statements are
are correct an-; g, .?eta‘tement_n correct?
not the correct ment-I] g '
Statement-] explan.mn for o rar
(c) gtt:a:em m ib; (A)nnlym:o
atement-] ottt & G e
(d) Statement-l is . (d) None

68. Consider the fol

R EP Q@m Statemenu
) countries of the
India account have ad"P“’d the

export of g _' S | f compact for international
, . IMpli our  the ‘Global Compact
St;l;errr‘xcn_ri e Pty y UPSC Jouiie Orderly and Regular
- any S Mlgratlon CM)..
;;:;m ,.“ 2. The objectwes and commitments
;  stated in the GCM are binding on
the “UN member countries.

3. The GCM addresses internal
migration or internally displaced
people also in its objectives and

tments

Statement-I : "
s

e Fishtfs ¢
How many of the above statements are

Scanned with CamScanner



co”
7 1 Bu Jgaria
czech Republic

sider the fO"ow‘n' on
Untrie
8

73. Consider the following statements :

Statement-1 :
;The soil in tropical rain forests is rich
n nutrients.

Hungary
Lot Statement-I1 :
4. :‘;le high :lmpemm and moisture
: . tropic rain forests cause
. Lithuania dead organic matter in the soil to
: decompose quickly.
6. Romania Which one of the following is correct in
respect of the above statements?
(a) Both Statement-1 and Statement-11
oW tn{:san)sfh ;f; the above-me are correct and Statement-1I is the
count . a land Bors Ntioned correct explanati forsuwm—l
ykrainé er with (b) Both Statement-1 and Statement-1I
\ are correct and Statement-11 is
(@) Only two : w @ not the correct €XP i for
Statement-I
correct  but

(c) Statement-I is
S_tatement—ll is in

(d) Statement-I is

Statement-II is €O

i
incorrect but

/C/ Only ,w_“’ ir
@ Only fi
g

y Only three SRS S oy
) st

13, With reference

Wthh one
correct?

/) The t

e
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75. Consider the l’nllm\'mk
§1

H‘(‘ln\
R In A Seie thtg :
recorde |‘Mn”""“l‘h )
€ Carliey than " Vaveg are
2. In P wave © Wave
' SVES, the : S,
- ) ”“l‘ o
vibrate tq |, v oVdua) e
of wave nd fro n th ll‘m‘"‘k‘q
. - W g -] ( Nyl
S weves It;nhat‘,&\lmn \\'h(\:.”(“”"
and dn\\"‘ ¢ pary les \'ihr(“N -
direction ol right angleg Py P
of waye DI Pag t 10 the
a on

Which of 5 gty
-\ of the slatcmoms :
1S/are correct? Blven aboye

(@ 1 only

(b) 2 only

() Both 1 ang 7
(d) Neither 1 nor 2

coal-ba
power plants in | sed therma)

] ndia, consi
following statements : Sider  the

. w JESCGPRE

water-stressed district,

3. None of them is privately owied.

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) All three
(d) None
77. Wolbachia method’ is sometimes talked

about with reference to which one of
the following?

(a) Controlling the viral diseases
spread by mosquitoes

() Converting crop residues into
packing material v

(c) Producing biodegradable plastics

o
(d) Producing biochar from nﬂlx:;n
chemical conversion of bio

33
XDTG-F-GST/62B

79. ‘Aerial

ler 1)
e follow
\llll Aac
) & actiy
‘;nrwulnw‘ fine)
on fmml;mllq
Incre

by

Y Bround by
Extensively
;mlny‘ the alk
ml:lm‘,‘ lime

salt rock

alinity of oceans

)Y various ir

: 1dustries
It into

A € activities are
considered ang discussed for
carbon capture an

d sequestration?
(@) Only one

(b) Only two
(c) All three
(d) None

metagenomics’ best refers

: to

whi n _;h{ oll.ing situations?

), (@ ing’ [ imples from air

® a habitat at one go

(b) Understanding the genetic makeup
of ' avian species of a habitat

fe) Using air-borne devices to collect

blood samples

from  moving
animals

(d) Sending drones to inaccessible
areas to collect plant and animal
samples from land surfaces and
water bodies

80. Microsatellite DNA’ is useq in the case
of which one of the following?
(a) Studying  the
relationships
species of fauna

i i ‘stem cells’ to

5 tsramrxlls‘;':)ar:lnnginto s)ctl(iavcrse functional

tissues | f

(c) Promoting clonal propagation o

horticultural plants -

" A::edflségxglgths:riegc:; ):ir?lfg trisls in
2 population

evolutionary
among various

[P.T.0.
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r

Consider the

relation to Jg f;):]l?\glv:r - m"‘moms .
1. L‘f'?hzsstf Mother - 1()J:nwu :m
) e oyt Healt} I rtm eNtion
and neon;\trll% to eduice - Entg,
pregnant “Ommgrt ality amo::;:::

3. It aimsg

W Promote ...

e LN
*Bhan

4. Its ObJCCtlv

nclug

ubli cs ‘e

1pnfa ]f hea]th fﬁCilities Drowd!ng
age,

How many of th
e
above are correct? Statements given

(@) Only one
(b) Only two
(c) Only three
(d) All four

82. Consider the followmg

statem
the context of P o

83. ( ons (]f‘l '} L Ir) ow n ‘12'!‘[“"” L]

| '
‘ (lrh(m fibres o

use
mannfmf,m, o doda sed in the

Ponents
N automobiles and aircrafyg ——

Carbon f

hl’nq one
. € used o
recycled. -annot be

Which of the statements

given aboye
is/are correct?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d)_ Neither 1 nor 2

84. Consider the following actions :

undertaken §e@ m E P @ec\QMcrash/colhsxon
Bharat Strat deployment of

1. B prov1des pr calcium
supplementation | 1
children, ademu WWQD

women.

2. It runs a campaign for delayed
cord clamping at the time of child-
birth.

3. It provides for periodic deworming
to children and adolescents.

4. It addresses non-nutritional causes
of anaemia in endemic pockets
with special focus on malaria,
hemoglobinopathies and fluorosis.

How many of the statements given
above are correct? |

(a) Only one:
(b) Only two
{c) Only three
(d) All four

-F-GST/62B

alrbags almost instantaneously .

2. | Detecfion of accidental free fall of
a laptop towards the ground which
results in the immediate turning off
of the hard drive

3. Detection of the tilt of the smart-
phone which results in the rotation
of display between portrait and
landscape mode

In how many of the above actions is the
function of accelerometer required?

(a) Only one

(b) Only two
(¢) All three
(d) None
[P.T.O.
-
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Mure A 87, Which one of :
consid yeiem, — .
er the fo owing sta ementy . its own Satellite Naws:tsio::ng;t:tem ;m ;
. ‘ m
1. Biofilterg provid
€ waste trea
by removing Uneaten fish feet:lnem - '
2. Biofilters convert Canada
ammonia
in fish Waste tq Nitrate, iy y
3. Bioﬁ?ters increase Phosphorys ag (c) lsrael
nutrient for figy in water,
How man f nile
Y of the statements given
above are correct? |
T M ampe § HH LI
(@) ﬁ 1 & B 88. Consider the following statements -
o
(b) 1. Ballistic missiles are jet-propelled
(C)IJ

‘at subsonic speeds throughout
their flights, while cruise missiles

PSCPREP.CBiE™ "=

:4" Slmnllfy your UPSC Ju LY T

e m— BrahMos is a solid-fuelled
: Giant clouds ef @m and  intercontinental ballistic missile.

Wmm

© Which of the statements given above
zﬁau ~ is/are correct?

1§ 1 ) S

L non o S
b . lin&
.,' 1 ' ILJ ujiﬁ . .gFI ﬁ'—f_ (1)

twrr W, AT -l'T

B
LN o
. '}'— '1.1‘ . ot

2 4' =R
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g s

ider
’9, Consi s € foll
regarding mercuw lliutgn tatemem,
on

Consiqey t
1. Gfold Ning activiyy (o eference ¢ India . © Matementg with
mercyry lution 1", 2 $0Uree + According 4 :
in the Worlq. Mediy % :tet:'ﬁ;ﬁ'Mlcro, Small anq
ses
2. Coal-bage "mal (MSMED) Act, 2006’ Du:em
Cause mel‘cury Pollyg; p “’ef Plantg Nterpriges’ 'mo.e -
, mveltmenta p and
' Thire machine between #
1S no kno e 1 25 crorrz. °en T 15 crore ang
€Xposure 1o evel of
Merey 2. All bank 10ans to the Micro Small
and Medium Enterprises 'qmm,
How many of e above 5 under the priority sector.
correct? tatements are Which of the statements given above
is/are correct?
; fa) 1 only
(@) Only one (b) 2 only
(c) Both 1 and 2
(b) Only twe

(d) Neither 1 nor 2
PR \n’g ’ 92. With reference to Central
_' ’ T digital currencies, conndermeblb'm;

statemcnta
CEM
SCPREP. =
| ‘;;" PR g

”. ‘ o th Ly
i Siinlify your UPSC Jotrne / .l:a...m
=ty as a fuel Wlnchofmestatemenumabme
is/are correct?
(@ 1 only
(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

‘beta’
In the context of finance, the term
. oot g

5 uofmulhneouehm
I - ‘“‘%qnm
* P) an _investment :rmu dnn:

: that
hw - mh&"m

S \TH0 P
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i
Program ZHCID iroy
Y the g 28 Origingy, . (SHG ONSider the f
- \4 lnitim S ”””W'”V State
Y Provigin Bangk | ed Statemen.y ' .
Inanciaj)y, ICTocredjp Ndig “Cording
2 In a ve O the orld \A‘/m( the  Uniteq Nationg’
takerl HG, ay emb 2022, India I):W'w"”""' Report
extre -
an ing: POnsibility o ° °f & groyp, & quarter of the yorr O than
X x nd’\”dua ) bor a loan that Withdrawa| each v"’::' § groundwater
he Baiid takes State !
egion : ment-]] -
S a Rur I e
sshed\lled mael ,Bahks and qm(‘lll: :""‘rlq 10 extract more than
n £ ar ,
Pport Sy ¢lal  Bankg each year of the world's groundwater
2 ¢ ']‘ year to satisfy the (Irmklng water
- and sanitati "
c many of the above of worldf tion needs of almost 1%
orrect? Statements . 8 population living in its

tcrritor_y,

Which one of the following is correet in

(b) Only i respect of the above statementg?
( (a) Both Statement-1 and Statement-I]
c) Al three d are correct and Statement-II is the
(d) - correct explanation for Statement-|
(b) Both Statement-I and Statement-I1
95. © : . are correct and Statement-Il is
onsider the followmg statements not the correct explanation for

Statement-] : Statement-I

Indi bli UP Y= 1Y,
ndia’s public/ge R E P v -3 B correct  but
largely focuseUn uri& §£th oStatemcntsil s edrrect

limited preventive,  promotive (d) Statement-1 _is incorrect but
rehabilitative care. ," e e Statement-II is correct

Statement-II : Ty : 97. Consider the following statements
Under India’s decentralized approach 1. According to the Constitution of
to health care delivery, the States are India, the Central Government has
primarily responsible for organizing a duty to protect States from
health services. internal disturbances.

2. The Constitution of India exempts
the States from providing legal
counsel to a person being held for

Which one of the following is correct in
respect of the above statements?

ol preventive detention.
(a) Both Statement-I and Statement 11 By e Peseien o
are correct and SEMRCARE S the Terrorism Act, 2002, confession of
. correct explanation for Statement-I i accuscd. b o or-us
~(b) Both Statement-I and Statement-II cannot be used as evidence.
are correct am: eSxt;temetfil;;n f;: : How many of the above statements are
not the correc lana correct?
(c) Statement-I is correct  but (b) Only two
Statement-1I is incorrect (c) Al three
3 : but '
(d) Statement:;l . ucon-l:;o & (d) None
Statement-ll 18
[P.T.0
41
XDTG-F-GST/62B
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8. which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news
in the recent past for its very severe
famine?

(a) Angola
(b) Costa Rica
(c) Ecuador

(d) Somalia

99, Consider the following statements :

1. In India, the Biodiversity

ent Committees are key

100. Consider the following statements in
respect of election to the President of
India :

CPREP.CGC)

aplisy your UPSC Jo

The members nominated to either
House of the Parliament or the
Legislative Assemblies of States are
also eligible to be in the
Electoral College.

Assembly

State.
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